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Quiz 7 o

A student stomps on a stomp rocket and the 0.075 kg rocket travels 15.6 m
straight upwards.

a. How much potential energy does the rocket have at the peak of its arc?

b. If all of the potential energy that it had at the top of its arc was initially kinetic
nergy as it came out of the launcher, how fast was it initially travelling when it
eft the launcher?

c. During the launch, the rocket was in contact with the launcher over a distance
of 0.20 m. How much force did the launcher apply to the rocket?
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